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%+ (ICT) = 1 1,050,010 | B&{A (FLE8) BE 1L (1ICT) 4, 100 m3
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(c2)
18-8-40 (F4F) JEME42cm 5 X 50cm ;

BT (FRRE) 27 -b 1 T
(1-1%)
18-8-40 (&4F) 1RH30cm 15 X 151cm ;

B FT R (FRRE) 27 -b 1 T
(2-1%)
18-8-40 (&4F) 1RH30cm 15 X 151cm ;

EIRSIVARPYE = 176 m2
(KA
150kg/fHLL | #2% 35cm FZEfA RC-40 18-8-
40 (BJF) KRy

H Hikx 8 m2
TR AHEET B M t=10 ;

Bl HT Ruiav - 55 m
(B)
18-8-40 (&4F) IF60cm 15 X 7lcm ;

WA R L eV 1 4,224,913 | B (WaBE) 227) -} 1 FliG
(1-4%5)
18-8-40 (&4F) 1RH30cm & X978cm ;

REHF (FRE) 27—} 1 =00
(2-4%5)
18-8-40 (&4F) 1RH30cm & X531cm ;

SRy -h 401 m2
18-8-40 (7&47) t=35cm FA2/7yv47v (RC-40) t=
20cm ;
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2t FEIAL-HRATT 58 0. SkmPAF ;
A Y 1 4,295, 364
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e sy = 1 1, 344, 400 | HE SR EBRE 1 =
YATLRIE 2 (ICT) 1 B2V
-3 - E+A8m SN T S




THE4 | R)IIREEH XGRS (Z04) TH

THEXSy - THE - FE5 H7 % & i Gl N

BUGBREIUEL (REH L) 2V 876, 000
sty (R L) 2V 6, 717, 000
R e 2V 96, 068, 493
e R 2V 25, 415, 000
T AT X 121, 483, 493
— e PR 2V 20, 276, 507
N 2V 141, 760, 000

TAZIEE LN )R




